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Problem 1 (10 points)

h[n] = δ[n] + 0.9δ[n− 3] + 0.8δ[n− 10]

Problem 2 (10 points)

(a) No, not linear.

y3[n] =
1

N

N−1∑
m=0

(
a2x21[n−m] + 2abx1[n−m]x2[n−m] + b2x22[n−m]

)
6= ay1[n] + by2[n]

(b) Yes, time-invariant.

y2[n] =
1

N

N−1∑
m=0

x22[n−m] =
1

N

N−1∑
m=0

x21[n−m− n0] = y1[n− n0]

Problem 3 (10 points)

(a) Yk = 0 for all |k| > 1.

(b)

|Yk| =


0 |k| > 1

|Xk|
(

sin(π/2)
3 sin(π/6)

)
= 2

3 |Xk| k = ±1
Xk k = 0

Problem 4 (10 points)

h[n] =
sin(πn/3)− sin(πn/6)

πn


